BK S:t Erik
Trettondagssilver 2011-01-06

Partavling, 36 bord, 71 par. Antal brickor: 42. Medel: 1427.3. Frirond (*) ger egen procent.

Plac Par
1 66
2 26
3 1
4 41
5 57
6 10
7 55
8 59
9 45

10 12
11 31
12 53
13 3

14 6

15 60
16 29
17 14
18 39
19 17
20 43
21 33
22 36
23 5

23 67
25 71
26 50
27 49
28 21
29 64
30 42
31 8

32 48
33 62
34 25
35 30
36 9

36 18
38 58
39 40
40 65
41 16
42 28
43 46
44 22
45 7

46 4

47 56
48 51
49 24
50 11
51 2

52 19
53 13
54 27
54 35
56 63
57 52
58 38
59 68
60 72
61 47
62 54
63 61
64 69
65 23
66 44
67 20
68 15
69 70
70 32
71 34

Poang

1861.0
1832.0
1777.0
1768.0
1714.0
1691.0
1677.0
1655.0
1653.0
1648.0
1617.0
1598.0
1597.0
1590.0
1589.5
1583.0
1578.0
1559.0
1554.0
1544.0
1540.2
1536.8
1524.0
1524.0
1523.0
1520.6
1515.0
1507.0
1504.0
1491.5
1475.0
1458.2
1453.5
1450.0
1439.0
1436.0
1436.0
1430.2
1425.8
1423.0
1422.0
1397.0
1389.2
1388.0
1380.0
1376.0
1369.8
1348.0
1340.0
1329.0
1327.0
1320.0
1318.0
1309.0
1309.0
1296.0
1293.4
1280.5
1258.0
1245.0
1234.0
1212.6
1207.0
1138.0
1109.0
1074.8
1034.0
1032.0
1008.0
978.0
921.0

%

65.16
64.15
62.22
61.90
60.01
59.21
58.72
57.95
57.88
57.70
56.62
55.95
55.92
55.67
55.66
55.43
55.25
54.59
54.41
54.06
53.93
53.81
53.36
53.36
53.33
53.24
53.05
52.77
52.66
52.22
51.65
51.06
50.89
50.77
50.39
50.28
50.28
50.08
49.92
49.82
49.79
48.91
48.64
48.60
48.32
48.18
47.96
47.20
46.92
46.53
46.46
46.22
46.15
45.83
45.83
45.38
45.29
44.83
44.05
43.59
43.21
42.46
42.26
39.85
38.83
37.63
36.20
36.13
35.29
34.24
32.25

Namn

Bengt-Erik Efraimsson - Anna Zack-Einarsson
Sven-Owe Andersson - Hans Vestergren
Sten Ternblad - Lars Andersson
Ragnar Unge - Johan Linander
Thomas Magnusson - Lillemor Strindberg
Bim Odlund - Ylva Strandberg
Lennart Eriksson - Jan Larsson
Thomas Bjorkstrand - Mark Drapsa
Bjorn Wenneberg - Géran Andersson
Mats Holm - Jan Ternstedt

Marina Furukvist - Bennet Rosengren
Peter Martensson - Anna Martensson
Lars Julin - Hans Hultqvist

Lars Goldberg - UllaBritt Goldberg
Lars Manneteg - Lennart Rehle

Ric Sallsten - Inger Sallsten

Per Clarin - Torbjorn Gustavsson
Margaretha Norbéck - Tora Philip
Peter Backlund - Anders Morath
Mikael Arnberg - Tommy Strindfors
Peter Carlsson - Peder Skaj

Lennart Karlberg - Jan-Olof Hegethorn
Lars Norback - Mart Altméae

Per Hallberg - Olle Wademark
Fredrik Alfredsson - Erika Rodin
Lars-Erik Rudstrom - Kjell-O Persson
Hans Nerell - Lars-Olof Hessle

PG Eliasson - Staffan Schmidt

Ake Falkunge - Eva Benckert
Frederic Wrang - David Wrang
Fredrik Nystrom - Ola Lerna

Inga Wasteby - Lennart Wiklander
Richard Holmberg - Maud Holmberg
Dan Martinson - Karin Martinson
Gunnar Lindell - Lars Malm

Per Skoglund - Hubert Thorson

Peter Lindquist - Lotta Darin

Lars Andersson - Max Odlund

Martin Florestedt - Hakan Florestedt
Arne Persson - Harry Nisell
Margareta Sjoberg - Nilla Sundberg
Ake Sjéberg - Ulla-Britt Olsson
Yvonne Flodqgvist - Tommy Eneqvist
Ewa Bjorling - Erik Lindgvist

Peter Flodqvist - Peter Tornblom
Gunnar Luthman - Jan Carlson
Micke Almgren - Eddie Persson
Anita Lofgren - Leif Westerstrom
Bidrn Torbiérnsson - Mari-Anne Elsasdotter
Bertil Gustavsson - Lars-Gdran Holmberg
Gunnar Lund - Kent Sandstrom
Elisabeth Forsell - Gunilla Ostervall
UIf Lundgren - Peter Svensson
Henning Tingvall - Conny Lévgren
Stefan Andersson - Eva Blomberg
Per Selander - Goran Svensson

Per Lundquist - Birgitta Ternblad
Stefan Josefsson - Hans Ohrling
Karin Englund - Mona Asplund

Per Sdderberg - Margareta Brithéll
Fredrik Svensson - Carl-Johan von Uexkull
Henry Tenglin - Majnie Willners
Carl-Erik Tovas - Jorgen Lo6v
Kerstin Helleberg - Ulla Lanner
Gosta Bengtsar - Riitta Wennberg
Ulla Petterson - Kenneth Hedstrom
Elsy Bergstedt - Florence Bodin

Boo Palsson - Anna-Lena Bjork

Jarl Jénsson - Ann Johansson
Sandstrém Unto - Hartzell Louise
Ingela Norelid - Maria Ekwall

MID

127
8954
9539
83544
3693
9266
9020
9273
1912
35126
8560
20373
16721
9298
2944
12585
10538
8660
244
24686
11594
2185
2809
12555
83200
10725
85810
2827
9025
8652
18356
10912
12152
38752
16249
9061
90779
5351
8861
9187
24704
9207
14805
37928
14778
41873
11390
83339
8462
22138
2639
16291
12024
10744
84771
15820
10467
2033
8616
18380
84752
37537
14806
10190
33443
37593
16858
28170
32936
+2206
41840

4049
33345
13156
88360

8806

9217

5220
39482
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1 « EK5 2 & Knl0 3 #8532
Nord vED9 Ost vK3 Syd vE4
Ingen ¢ Kn842 NS ¢ E952 ov + DKn8642
&754 &#EKn543 &K
a3 & DKn10642 a74 4982 « EKD 496
vyKn763 8 v D742 v E96 v DKn987 v65
41053 + KD96 4108764 ¢ KDKn3 +73 + EK109
4109863 #KD &76 &#KD10 #1052 #98643
4987 « EKD653 4 Knl1074
v K10542 v Kn1085 v K1032
¢ E7 ¢- +5
&EKn2 982 &#EDKN7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 61 44DO-4 +A 800 66.0 20| 8 65 54D O-4 4A 800 670 10|57 16 3vDV-4 &K 1100 68.0 0.0
22 51 44DO-4 +A 800 66.0 20|18 55 5¢DO-4 &A 800 670 10|71 2 2vyDV-2 &K 500 66.0 2.0
24 49 44D O-4 +A 800 66.0 20|14 59 44DS= &7 790 640 40|18 55 2NDS= &A 490 64.0 4.0
56 17 3vyDS= 43 530 62.0 6.0|29 44 44 S= *4 620 60.0 80|56 17 24aDN= 46 470 62.0 6.0
35 38 44DO-3 ¢A 500 58.0 10.0|48 25 44 S= a7 620 60.0 80|12 61 14 S+2 +Q 140 57.0 11.0
53 20 44D O-3 +A 500 58.0 10.0|62 11 44 S= &7 620 60.0 80|53 20 24 N+1 ¢K 140 57.0 11.0
54 19 44DO-3 ¢¥2 500 58.0 10.0|22 51 3NN= +K 600 55.0 13.0|62 11 34 S= 7 140 57.0 11.0
63 10 SNN+2 & 460 54.0 14.0|71 2 3NN-= +Q 600 55.0 13.0|66 7 34 N= *A 140 57.0 11.0
43 30 3BNN+1 «4Q 430 50.0 18.0(12 61 INDO-3 4A 500 520 16.0|/64 9 2NS= s A 120 52.0 16.0
57 16 3NN+1 «Q 430 50.0 18.0|35 38 INDO-2 &A 300 50.0 18.0|24 49 24 S= s A 110 46.0 22.0
66 7 3NN+1 &Q 430 50.0 18.0|60 13 24 S+3 v4 200 48.0 20.0 (52 21 24 S= LY- 110 46.0 22.0
42 31 4v S= 43 420 45,0 23.0(27 46 24 S+2 &7 170 38.0 30.0|/68 5 24 N= 46 110 46.0 22.0
62 11 4y S= a3 420 45,0 23.0(40 33 24 S+2 &7 170 38.0 30.0|69 4 24 S= &T 110 46.0 22.0
40 33 3NN= +5 400 39.0 29.0|45 28 24 N+2 T 170 38.0 30.0|70 3 24 S= LY- 110 46.0 22.0
48 25 3NN= 4 Q 400 39.0 29.0|52 21 24 S+2 &7 170 38.0 30.0| 8 65 3¢ N-1 v6 -50 31.0 37.0
64 9 3NN= «Q 400 39.0 29.0|54 19 34 S+1 ¥4 170 38.0 30.0|22 51 3¢ N-1 v6 -50 31.0 37.0
68 5 3NN= «Q 400 39.0 29.0|56 17 24 S+2 &7 170 38.0 30.0(27 46 3NS-1 LY- -50 31.0 37.0
18 55 44D O -2 ¢A 300 32.0 36.0|57 16 24 S+2 ¥4 170 38.0 30.0(29 44 2NS-1 vQ -50 31.0 37.0
29 44 24D0O-2 +A 300 32.0 36.0|63 10 34 S+1 &6 170 38.0 30.0|32 41 2¢ N-1 v6 -50 31.0 37.0
71 2 24DO-2 +A 300 320 36.0|69 4 34 S+1 v2 170 38.0 30.0(40 33 2¢ S-1 LY- -50 31.0 37.0
32 41 3v S= 46 140 28.0 40.0(42 31 INO-3 s A 150 27.0 410|142 31 44 S-1 vQ -50 31.0 37.0
8 65 2NN = «Q 120 26.0 420|164 9 2v 0-3 «Q 150 27.0 41.0|45 28 2¢ N-1 &T -50 31.0 37.0
15 58 34 O-2 *7 100 240 440|132 41 24 S+1 v4 140 23.0 45.0|48 25 24 N-1 *A -50 31.0 37.0
23 50 4v S-1 43 -50 15.0 53.0(43 30 24 S+1 &7 140 23.0 45054 19 2NS-1 s A -50 31.0 37.0
27 46 4v S-1 a3 -50 15.0 53.0(34 39 3&S+1 +¢K 130 19.0 49.0|14 59 3¢ N-2 49 -100 14.0 54.0
34 39 4v S-1 a3 -50 15.0 53.0(53 20 3 N+1 +¢K 130 19.0 49.0|15 58 2¢ N-2 v6 -100 14.0 54.0
45 28 3NN-1 4Q -50 15.0 53.0(70 3 2y S= *4 110 16.0 52.0|23 50 INS-2 & K -100 14.0 54.0
52 21 4v S-1 a3 -50 15.0 53.0 (15 58 1INO-2 46 100 12.0 56.0|43 30 2¢ S-2 s A -100 14.0 54.0
69 4 44 S-1 a3 -50 15.0 53.0(47 26 INO-2 oA 100 12.0 56.0|60 13 24 N-2 *A -100 14.0 54.0
70 3 4v S-1 43 -50 15.0 53.0(66 7 INO-2 4Q 100 12.0 56.0|63 10 3¢ N-2 v6 -100 14.0 54.0
72 1 3NN-1 «Q -50 15.0 53.0(68 5 3¢ V-1 e 50 8.0 60.0(67 6 44 S-2 vQ -100 14.0 54.0
14 59 5v S-2 a3 -100 3.0 65.0(24 49 44 S-1 &7 -100 5.0 63.0|35 38 2v V= +8 -110 6.0 62.0
47 26 4v N-2 43 -100 3.0 65067 6 44 S-1 &7 -100 5.0 63.0(47 26 3NDN-2 &A -300 3.0 65.0
60 13 4v S-2 LY:] -100 3.0 65.0(23 50 2¢ O+1 %3 -110 20 66.0|72 1 44DN-2 v¥6 -300 3.0 65.0
67 6 3NN-2 «Q -100 3.0 65.0(72 1 3NN-2 +K -200 0.0 68.0(34 39 3¢DN-3 v6 -500 0.0 68.0
36 - 36.6 36 - 36.6 36 - 36.6
«D10 #1054 & D96542
v Kn854 v D62 v 107
¢ Kn97 + D5 ¢+ EK2
&#EK108 &#Kn8642 »D5
47632 & EKKnNn8 4 K9 4 E632 4 KKn103 «87
vEK63 v92 vE874 v93 v EKD4 v 9532
+5 + ED1082 ¢ EKn987 ¢ 1062 ¢+ 64 + D10985
#7542 #96 D5 &EK97 #986 &Kn2
4954 & DKn87 sE
v D107 v KKn105 v Kn86
¢ K643 ¢ K43 ¢ Kn73
&DKn3 103 &#EK10743
Kontr Ut Res Poang Kontr Ut Res Poang Kontr Ut Res Poang
24 51 3¢ O-2 &Q 200 68.0 0.0|41 34 2NO= vT -120 68.0 0.0|{24 51 3NN-= v9 400 64.0 4.0
69 6 44 O-1 49 100 65.0 3.0|43 32 34 0= vT -140 66.0 20|25 50 3¢ O-4 &A 400 64.0 4.0
72 2 2¢ O-1 vQ 100 65.0 3.0(|13 62 3¢ V+2 ¢2 -150 61.0 7.0|43 32 3NS= +6 400 64.0 4.0
28 47 INV = SA 90 61.0 7.0(19 56 2¢ V+3 &6 -150 61.0 7.0|/46 29 3NS= vK 400 64.0 4.0
43 32 24 O= *Q 90 61.0 7.0(64 11 INV+2 &4 -150 61.0 7.0|55 20 3NS= vK 400 64.0 4.0
53 22 2¢ O+1 w7 -110 57.0 11.0|71 4 INV+2 &2 -150 61.0 7.0|67 8 2NS+1 ¥vA 150 58.0 10.0
57 18 24 O= LY -110 570 11.0| 1 3 INV+3 &2 -180 55.0 13.0| 1 3 24 N+1 ¢3 140 54.0 14.0
1 3 240+1 4 -140 39.0 29.0|72 2 2NV +2 &2 -180 55.0 13.0(44 31 24 N+1 #3 140 54.0 14.0
9 66 14 O+2 #Q -140 39.0 29.0(54 21 1vDS-1 &Q -200 52.0 16.0|61 14 24 N+1 9 140 54.0 14.0
16 59 1a O+2 #Q -140 39.0 29.0|15 60 INV+5 &4 -240 50.0 18.0(41 34 3#S+1 ¢K 130 47.0 21.0
19 56 24 O+1 #4 -140 39.0 29.0(53 22 2v N-3 &K -300 48.0 20.0(48 27 3#S+1 YA 130 47.0 21.0
23 52 24 O+1 &3 -140 39.0 29.0|16 59 3NV= &3 -400 420 26.0|53 22 3#S+1 YA 130 47.0 21.0
35 40 14 O+2 44 -140 39.0 29.0(28 47 3NO= v3 -400 42.0 26.0|57 18 3#S+1 YA 130 47.0 21.0
36 39 264 O+1 44 -140 39.0 29.0|33 42 3NO= vJ -400 42.0 26.0|13 62 24 N= +5 110 33.0 35.0
41 34 24 O+1 4 -140 39.0 29.0(46 29 3NV= &2 -400 42.0 26.0|16 59 24 N= LY:] 110 33.0 35.0
46 29 34 O= v7 -140 39.0 29.0|(69 6 3NV= &6 -400 42.0 26.0|19 56 24 N= v3 110 33.0 35.0
48 27 24 O+1 44 -140 39.0 290 9 66 3NO+1 *T -430 22.0 46.0|23 52 34 S= vA 110 33.0 35.0
55 20 24 O+1 ¢4 -140 39.0 29.0(23 52 3NV+1 ¢Q -430 22.0 46.0|36 39 34 S= vA 110 33.0 35.0
64 11 24 O+1 &3 -140 39.0 29.0|24 51 3NV+1 &4 -430 22.0 46.0|49 26 24 N= +9 110 33.0 35.0
65 10 24 O+1 &4 -140 39.0 29.0|25 50 3NV +1 &2 -430 22.0 46.0|54 21 24 N= +9 110 33.0 35.0
68 7 1la O+2 #Q -140 39.0 29.0|35 40 3NV+1 ¢2 -430 22.0 46.0|58 17 3% S= vA 110 33.0 35.0
70 5 14 O+2 #Q -140 39.0 29.0|36 39 3NV+1 ¢2 -430 22.0 46.0|65 10 34 S= vK 110 33.0 35.0
71 4 24 O+1 #Q -140 39.0 29.0|48 27 3NV+1 ¢2 -430 220 46.0|71 4 24 N= v3 110 33.0 35.0
13 62 24 O+2 #Q -170 17.0 51.0|55 20 3NV +1 T -430 220 460 9 66 24 N-1 v9 -50 17.0 51.0
25 50 34 O+1 44 -170 17.0 51.0|57 18 3NV +1 &2 -430 22.0 46.0(15 60 34 N-1 +9 -50 17.0 51.0
30 45 24 O+2 42 -170 17.0 51.0|58 17 3NV +1 &2 -430 22.0 46.0(28 47 34 N-1 v2 -50 17.0 51.0
61 14 264 O+2 &4 -170 17.0 51.0|63 12 3NV +1l &4 -430 22.0 46.0 |30 45 24 N-1 +9 -50 17.0 51.0
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63 12 24 O+2 &4 -170  17.0 51.0|65 10 3NV +1 %4 -430 22.0 46.0(64 11 24 N-1 v3 -50 17.0 51.0
67 8 34 O+1 44 -170 17.0 51.0|{67 8 3NO+1 ¢K -430 22.0 46.0(69 6 24 N-1 v3 -50 17.0 51.0
33 42 24 O+3 42 -200 8.0 60.0|68 7 3NO+1 ¥5 -430 22.0 46.0|33 42 2¢ N-2 v4 -100 6.0 62.0
44 31 14 O+4 ¢4 -200 8.0 60.0[{70 5 3NV+1 42 -430 22.0 46.0|63 12 54DS-1 ¥vA -100 6.0 62.0
58 17 INDN-1 «A -200 8.0 60.0|30 45 INO+2 &T -460 40 64.0(68 7 34 N-2 v3 -100 6.0 62.0
15 60 2# N-3 v9 -300 40 64.0(44 31 3NV +2 &2 -460 40 64.0|70 5 24 N-2 v9 -100 6.0 62.0
54 21 44 O+1 ¢4 -650 20 66.0|61 14 3NV +2 &2 -460 40 64.0(72 2 34DS-1 ¥5 -100 6.0 62.0
49 26 2¢DN-5 «A -1400 0.0 68.0(49 26 2¢DS-5 vA -1400 0.0 68.0(35 40 44 N-3 v3 -150 0.0 68.0
- 38 305 - 38 305 - 38 30.5
7 & Kn75 8 «D5 9 « KDKn86
Syd v K842 Vast v 6532 Nord v 92
Alla + ED96 Ingen + E1064 ov + DKn106
&K5 &#DKn8 »105
1096 & EK 4 EKO8732 464 & 7542 4103
v6 v E975 v74 v K109 v- v Kn8743
¢ KKn10742 ¢ 853 +D2 + KKn9 ¢ K98742 53
#E102 #9863 &FE9 #K7653 &EKKnN D742
« D8432 & Knl0 & E9
v DKn103 v EDKn8 v EKD1065
¢- 48753 ¢ E
&DKn74 #1042 #9863
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
34 43 29y O-2 42 200 67.0 10|14 63 24 V+2 #Q -170 57.0 11.0|26 51 3NS+3 &K 490 68.0 0.0
50 27 3¢DV-1 & 200 67.0 1.0|29 48 24 V+2 ¥5 -170 57.0 11.0|29 48 3NN+2 &2 460 66.0 2.0
14 63 24 S+2 v6 170 640 40|31 46 24 V+2 &Q -170 57.0 11.0|62 15 4y S+1 ¢7 450 63.0 5.0
31 46 2v S+1 T 140 58.0 10.0|47 30 24 V+2 v6 -170 57.0 110|166 11 4y N+1 2 450 63.0 5.0
38 39 3v N= &K 140 58.0 10.0|49 28 24 V+2 ¢3 -170 57.0 11.0|14 63 3NS+1 ¢4 430 56.0 12.0
55 22 34 S= +K 140 58.0 10.0 |54 23 24 V+2 #J -170 57.0 11.0|38 39 3NS+1 #K 430 56.0 12.0
58 19 2vy N+1 &A 140 58.0 10.0|56 21 24 O+2 +3 -170 57.0 11.0|42 35 3NS+1 8 430 56.0 12.0
66 11 2v N+1 @A 140 58.0 10.0|58 19 24 V+2 &Q -170 57.0 11.0|64 13 3NN+1 ¢4 430 56.0 12.0
72 3 INN+1 5 120 52.0 16.0|59 18 24 V+2 &Q -170 57.0 11.0|72 3 3NN+1 5 430 56.0 12.0
2 4 2vS= aT 110 43.0 25.0|62 15 34 V+1 #Q -170 57.0 11.0|36 41 4y S= Y| 420 46.0 22.0
16 61 2v S= *4 110 43.0 25.0(64 13 24 V+2 #Q -170 57.0 11.0|54 23 44 N= v7 420 46.0 22.0
29 48 2v N= s A 110 43.0 25.0(66 11 24 V+2 #Q -170 57.0 11.0|56 21 4v S= &A 420 46.0 22.0
44 33 2v S= *J 110 43.0 250| 1 5 24 V+3 ¢3 -200 43.0 25.0|59 18 4v S= SA 420 46.0 22.0
47 30 2v N= &K 110 430 25.0(16 61 24 V+3 ¥3 -200 43.0 25.0|68 9 4v S= &A 420 46.0 22.0
62 15 24 S= v6 110 43.0 25.0( 2 4 44 V= A -420 31.0 37.0|25 52 3NN= +5 400 39.0 29.0
65 12 24 S= v6 110 43.0 25.0|10 67 44 V= v2 -420 31.0 37.0|58 19 3NS= &A 400 39.0 29.0
68 9 2v N= s A 110 43.0 25.0(25 52 44 V= v3 -420 310 370| 2 4 3vS= &A 140 35.0 33.0
10 67 4e¢ V-1 v8 100 34.0 340|126 51 44 V= v3 -420 31.0 370|71 6 3v S= &A 140 35.0 33.0
45 32 1a S= v6 80 32.0 36.0|42 35 44 V= v3 -420 310 370| 1 5 4vS-1 SA -50 20.0 48.0
26 51 4v N-1 s A -100 27.0 41.0|45 32 44 V= *Q -420 31.0 37.0(10 67 4v S-1 &A -50 20.0 48.0
36 41 4v N-1 s A -100 27.0 41.0|50 27 44 V= v6 -420 31.0 37.0(16 61 4v S-1 &A -50 20.0 48.0
59 18 24 S-1 v6 -100 27.0 41.0|55 22 44 V= &Q -420 31.0 37.0|17 60 4v S-1 &K -50 20.0 48.0
71 6 2vS-1 v6 -100 27.0 41.0|70 7 44 V= &8 -420 31.0 37.0(20 57 44 N-1 &4 -50 20.0 48.0
64 13 2¢ V+1 v4 -110 20.0 48.0|71 6 44 V= &Q -420 31.0 37.0(31 46 4v S-1 &A -50 20.0 48.0
69 8 3¢ V= v4 -110 20.0 48.0|20 57 3NO+1 &J -430 17.0 51.0|44 33 4v S-1 SA -50 20.0 48.0
70 7 3¢ V= a5 -110 20.0 48.0|65 12 3NO+1 3 -430 17.0 51.0(45 32 4v N-1 &A -50 20.0 48.0
56 21 2¢DO= &K -180 16.0 52.0|68 9 3NO+1 vJ -430 17.0 51.0(47 30 4v S-1 &A -50 20.0 48.0
20 57 34 S-2 v6 -200 11.0 57.0|/69 8 3NO+1 8 -430 17.0 51.0|49 28 34 N-1 &4 -50 20.0 48.0
24 53 3N N-2 +3 -200 11.0 57.0|38 39 44 V+1 ¢A -450 12.0 56.0 (50 27 4v S-1 &A -50 20.0 48.0
25 52 4v N-2 &K -200 11.0 57.0|17 60 3NO+2 8 -460 8.0 60.0(65 12 4v S-1 &A -50 20.0 48.0
42 35 4v N-2 &K -200 11.0 57.0|34 43 3NO+2 ¢8 -460 8.0 60.0(69 8 4v S-1 SA -50 20.0 48.0
49 28 2¢DV +1 &K -380 6.0 620|144 33 3NO+2 ¥vA -460 8.0 60.0(24 53 4v S-2 &A -100 4.0 64.0
1 5 34DS-2 v6 -500 40 64.0(24 53 44 V+2 A -480 2.0 66.0(34 43 4v S-2 &A -100 4.0 64.0
17 60 3¢DV= &5 -670 2.0 66.0|36 41 44 V+2 &Q -480 20 66.0|70 7 4¢vyDS-1 &K -100 4.0 64.0
54 23 3¢DV+1 45 -870 0.0 68.0(72 3 44 V+2 #Q -480 2.0 66.0|55 22 64 N-3 +3 -150 0.0 68.0
- 40 339 - 40 339 - 40 33.9
10 « EKD32 11 @- 12 « EK86
Ost v73 Syd vE107532 Vast v 9876
Alla + 1096 Ingen + K98 NS ¢ DKn10
#1094 #Kn1043 #Kn8
48 4 Kn76 «D85432 4 E1097 «D 4109753
vD1086 vE92 v- v K8 vKKn53 v 102
¢+ Kn87 + D53 ¢+ E6 + DKn432 + K98 * 742
#EKN863 #K752 &#EDI965 #K7 97542 &KD6
10954 & KKn6 & Kn42
v KKn54 v DKn964 vED4
¢ EK42 + 1075 + E653
&D 82 #E103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
26 53 44 S= &A 620 640 40|51 28 54DV-1 ¥vA 100 68.0 00|45 34 3NS+2 ¢5 660 68.0 0.0
35 44 44 N= &6 620 64.0 4.0(38 41 64 V-1 LY- 50 640 40| 1 7 3NS+1 ¢3 630 61.0 7.0
50 29 44 N= &5 620 64.0 40|66 13 64 O-1 vQ 50 64.0 40|17 62 3NS+1 «Q 630 61.0 7.0
63 16 44 N= 46 620 640 40|67 12 74 V-1 v3 50 640 40|35 44 3NS+1 ¢5 630 61.0 7.0
66 13 4e N= a5 620 640 40|11 68 5v N-2 LY- -100 60.0 80|50 29 3NS+1 ¢3 630 61.0 7.0
2 6 24 N+3 ¢3 200 540 140| 1 7 5vyDN-2 &A -300 57.0 11.0|55 24 3NS+1 3 630 61.0 7.0
30 49 2v V-2 s A 200 540 140|59 20 5vDN-2 &A -300 57.0 11.0|56 23 3NN+1 &7 630 61.0 7.0
38 41 24 N+3 &5 200 54.0 14.0 (45 34 44 V= &J -420 53.0 150| 3 5 3NS= &7 600 38.0 30.0
45 34 24 N+3 43 200 54.0 14.0|56 23 44 O= &J -420 53.0 15.0|15 64 3NS= &4 600 38.0 30.0
56 23 34 N+2 &7 200 540 140| 2 6 54 V= &T -450 43.0 25.0|21 58 3NS= &2 600 38.0 30.0
1 7 24 N+2 ©vA 170 35.0 33.0(17 62 44 V+1 &J -450 43.0 25.0|25 54 3NS= &5 600 38.0 30.0
3 5 24 N+2 #3 170 35.0 33.0|21 58 54 O= vQ -450 43.0 25.0|26 53 3NS= &2 600 38.0 30.0
18 61 24 N+2 &5 170 35.0 33.0(26 53 44 V+1 ©vA -450 43.0 25.0|27 52 3NS= «Q 600 38.0 30.0
21 58 24 N+2 &2 170 35.0 33.0|27 52 44 V+1 &] -450 43.0 25.0|30 49 3NN= &3 600 38.0 30.0
25 54 24 N+2 &5 170 35.0 33.0(32 47 44 V+1 &3 -450 43.0 25.0|32 47 3NS= &4 600 38.0 30.0
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32 47 24 N+2 &7 170 35.0 33.0|55 24 44 V+1 &J -450 43.0 25.0|43 36 3NS= +Q 600 38.0 30.0
39 40 34 S+1  #A 170 35.0 33.0|72 4 54 V= vA -450 43.0 25.0|46 33 3NS= +Q 600 38.0 30.0
51 28 34 N+1 &5 170 350 33.0| 3 5 54 V+l ¢2 -480 21.0 47.0|48 31 3NS= *Q 600 38.0 30.0
57 22 24 N+2 42 170 35.0 33.0|15 64 44 V+2 YA -480 21.0 47.0|57 22 3NS= &4 600 38.0 30.0
59 20 24 N+2 46 170 35.0 33.0|18 61 44 V+2 YA -480 21.0 47.0|59 20 3NS= +Q 600 38.0 30.0
60 19 24 N+2 &5 170 35.0 33.0|30 49 44 V+2 ©vA -480 21.0 47.0|60 19 3NS= &4 600 38.0 30.0
65 14 24 N+2 &5 170 35.0 33.0|35 44 54 V+1 YA -480 21.0 47.0|63 16 3NS= &5 600 38.0 30.0
67 12 24 N+2 &5 170 35.0 33.0(|39 40 54 V+1 YA -480 21.0 47.0|66 13 3NN= a5 600 38.0 30.0
72 4 24 N+2 3 170 35.0 33.0|46 33 44 V+2 YA -480 21.0 47.0|71 8 3NS= v3 600 38.0 30.0
27 52 24 N+1 46 140 140 54.0|48 31 564 V+1 YA -480 21.0 47.0|65 14 3&V-3 4A 150 19.0 49.0
43 36 34 N= 46 140 140 54.0|57 22 4e4 V+2 YA -480 21.0 47.0|70 9 2NS+1 ¥5 150 19.0 49.0
46 33 24 N+1 3 140 14.0 54.0|60 19 54 V+1 vA -480 21.0 470| 2 6 INS+1l &Q 120 16.0 52.0
48 31 24 N+1 &5 140 140 54.0|65 14 44 V+2 YA -480 21.0 47.0|11 68 3NS-1 &7 -100 10.0 58.0
55 24 24 N+1 &2 140 140 54.0|69 10 564 V+1 YA -480 21.0 47.0|18 61 3NS-1 5 -100 10.0 58.0
69 10 24 N+1 46 140 14.0 54.0|70 9 54 V+1 ©vA -480 21.0 47.0|38 41 3NN-1 &3 -100 10.0 58.0
71 8 24 N+1 45 140 140 54.0|71 8 54 V+1 YA -480 21.0 47.0|69 10 3NS-1 4 -100 10.0 58.0
70 9 24 N= ¢3 110 6.0 62.0(63 16 6vyDN-3 «A -500 6.0 62.0{72 4 3NN-1 *T -100 10.0 58.0
11 68 44 S-1 &2 -100 2.0 66.0|25 54 5vDN-4 &A -800 4.0 64.0(39 40 3vy N-2 &K -200 2.0 66.0
15 64 44 N-1 46 -100 2.0 66.0|43 36 6e& V= vA -980 1.0 67.0|51 28 4y N-2 &T -200 2.0 66.0
17 62 44 N-1 %6 -100 2.0 66.0|50 29 64 V= vA -980 1.0 67.0|67 12 44 S-2  #2 -200 2.0 66.0
- 42 355 - 42 355| - 42 35.5
13 & Kn543 14 » EK83 15 # 1098742
Nord v EK107 Ost v 10532 Syd v DKn4
Alla ¢ E42 Ingen ¢E4 NS 493
*K8 #EKn4 #52
D102  4E987 41075 « D6 465 4 KD
v D62 v 85 v K4 v EDKn86 v K2 v 876
+D8 ¢ KKn975 ¢ KD1062 #9753 ¢ KKn862 ¢ ED1054
#107542 #EKn #1032 *76 #Kn843 #EDG6
» K6 « Kn942 « EKn3
v Kn943 v 97 v E10953
+1063 ¢ Kn8 *7
#D963 #KD985 #K1097
Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng Par  Kontr Ut Res Poéng
27 54 3yDN= +v8 730 68.0 00| 2 8 44 N+1 5 450 67.0 10|49 32 34 N+1 v7 170 68.0 0.0
58 23 34DV-2 vA 500 66.0 20|46 35 44 S+1 +¢K 450 67.0 10|67 14 3v S= 2 140 66.0 2.0
1 9 3¢0-2 K 200 62.0 6.0|61 20 44 S= vK 420 64.0 4.0|31 50 3NV-2 vQ 100 62.0 6.0
2 8 240-2 v9 200 62.0 6.0|27 54 INN+4 vQ 210 620 6.0|36 45 3NO-2 &A 100 62.0 6.0
49 32 2¢DO-1 v4 200 620 6.0|18 63 24 N+3 &7 200 56.0 12.0|46 35 3NV-2 ¢Q 100 62.0 6.0
28 53 3y N= *A 140 58.0 10.0|38 43 34 N+2 +¢5 200 56.0 120| 3 7 3NV-1 ¢2 50 47.0 21.0
16 65 24 V-1 vA 100 52.0 16.0|51 30 24 N+3 ¢5 200 56.0 120| 4 6 5¢ O-1 vA 50 47.0 21.0
33 48 24 O-1 v4 100 52.0 16.0|52 29 34 S+2 +¢Q 200 56.0 12.0|12 69 5¢ V-1 vQ 50 47.0 21.0
47 34 24 O-1 43 100 52.0 16.0|71 10 34 N+2 3 200 56.0 12.0|16 65 3NV-1 vQ 50 47.0 21.0
57 24 24 O-1 3 100 520 16.0| 1 9 INN+3 9 180 450 230(18 63 3NV-1 vQ 50 47.0 21.0
64 17 3¢ O-1 v3 100 52.0 16.0|16 65 INN+3 vJ 180 45.0 23019 62 5¢ V-1 vQ 50 47.0 21.0
3 7 INN= &5 90 43.0 25022 59 INN+3 vQ 180 45.0 23.0|26 55 5¢ O-1 4A 50 47.0 21.0
18 63 INN-= +5 90 43.0 25.0(26 55 INN+3 vJ 180 45.0 23028 53 3NV-1 vQ 50 47.0 21.0
66 15 INN-= o7 90 43.0 25.0(49 32 INN+3 ¥vQ 180 45.0 23038 43 3NV-1 vQ 50 47.0 21.0
70 11 INN= ¢5 90 430 250(72 5 INN+3 ¥vQ 180 45.0 23051 30 3NV-1 vQ 50 47.0 21.0
12 69 2¢ O= +3 90 36.0 320| 3 7 24 S+2 v¥K 170 33.0 350|52 29 3NV-1 vQ 50 47.0 21.0
51 30 2¢ O= 3 -90 36.0 32.0(28 53 34 S+1 &3 170 33.0 350|60 21 3NV-1 vQ 50 47.0 21.0
60 21 2¢ O= oK -90 36.0 32.0(31 50 34 N+1 &7 170 33.0 350|56 25 4v S-1 ¢2 -100 34.0 34.0
4 6 INN-1 ¢4 -100 20.0 48.0|36 45 34 S+1 ¢K 170 33.0 350 1 9 3¢ O+1 2 -130 23.0 45.0
22 59 INN-1 5 -100 20.0 48.0|39 42 34 S+1 ¥vK 170 33.0 35.0|27 54 4¢ O= *7 -130 23.0 45.0
26 55 INN-1 ¢4 -100 20.0 48.0|64 17 14 N+3 ¢5 170 33.0 35.0|39 42 3¢ V+1 vQ -130 23.0 45.0
31 50 INN-1 5 -100 20.0 48.0|58 23 INN+2 ¢Q 150 26.0 42.0|47 34 3¢ O+1 +vQ -130 23.0 45.0
36 45 INN-1 7 -100 20.0 48.0| 4 6 24 S+1 K 140 23.0 45.0|58 23 3¢ O+1 #9 -130 23.0 45.0
38 43 3vyS-1  +Q -100 20.0 48.0|33 48 24 S+1 ¥K 140 23.0 45.0|61 20 4¢ V= vQ -130 23.0 45.0
39 42 INN-1 «8 -100 20.0 48.0|12 69 INN+1 v6 120 15.0 53.0(66 15 2¢ O+2 &9 -130 23.0 45.0
40 41 INN-1 5 -100 20.0 48.0|19 62 INN+1 v8 120 15.0 53.0|68 13 2¢ V+2 vQ -130 23.0 45.0
46 35 INN-1 3 -100 20.0 48.0|47 34 INN+1 5 120 15.0 53.0|70 11 2¢ O+2 YA -130 23.0 45.0
52 29 INN-1 7 -100 20.0 48.0(56 25 INN+1 &J 120 15.0 53.0|71 10 3¢ V+1 vQ -130 23.0 45.0
67 14 INN-1 5 -100 20.0 48.0|57 24 INN+1 v6 120 15.0 53.0{40 41 3¢ O+2 ¢2 -150 11.0 57.0
68 13 INN-1 o7 -100 20.0 48.0|66 15 INN+1 v8 120 15.0 53.0(57 24 3¢ O+2 &9 -150 11.0 57.0
72 5 INN-1 ¢7 -100 20.0 48.0|67 14 24 S= vK 110 70 61.0( 2 8 3NO= vT -400 6.0 62.0
61 20 24 O = vK -110 6.0 62.0|70 11 3& N-= *2 110 7.0 61.0({64 17 3NV= vQ -400 6.0 62.0
19 62 24 O+1 v4 -140 4.0 64.0(40 41 3¢ O-1 &K 50 4.0 64.0|72 5 3NV= vQ -400 6.0 62.0
56 25 INN-2 +2 -200 1.0 67.0|68 13 2¢ O= *K 90 20 66.0(22 59 3NV+1 vQ -430 2.0 66.0
71 10 INN-2 o7 200 1.0 67.0|60 21 3¢ V+1 &A -130 0.0 68.0|33 48 44DN-2 +A -500 0.0 68.0
44 - 25.6 44 - 25.6 44 - 25.6
16 « E987 17 « D96 18 « 105
Vast v 1093 Nord vD107543 Ost v Kn108543
ov ¢ D63 Ingen ¢ Kn3 NS ¢ 106
#Kn52 #107 #K85
41062 & KKn5 4 KKn872 & E10543 4 EKD764 4932
v 85 v Kn2 vKn6 v K8 vK v72
¢ K109852 ¢ Kn ¢107654 ¢ EK92 ¢ D84 ¢ EKn72
»E8 #D1097643 &3 *92 #DKn6 #10743
& D43 a- «Kn8
v EKD764 vE92 vED96
¢E74 +D8 ¢ K953
&K #EKDKn8654 #E92
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 70 54D O -4 vK 1100 680 00| 4 8 54DS= vJ 550 67.0 10|57 26 3v N= a2 140 68.0 0.0
39 44 4y S+1 @A 450 65.0 3.0|/20 63 5#DS= vJ 550 67.0 10| 3 9 4eV-1 vJ 50 62.0 6.0
68 15 4v N+1 #8 450 65.0 3.0|41 42 3NS+1 46 430 640 40| 4 8 44 V-1 o7 50 62.0 6.0
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4v S = *A 420 48.0 20.0|48 35 54 O-1 ©vA 50 61.0 7.0|29 54 4v V-1 T 50 62.0 6.0
4y S = *A 420 48.0 20.0 (65 18 54 V-1  &T 50 61.0 7.0|47 36 44 V-1 v3 50 62.0 6.0
4v S = &A 420 480 200 3 9 5¢v N-1 +A -50 550 13.0(72 6 44 V-1 T 50 62.0 6.0
4v S = *A 420 48.0 20019 64 5#S-1 a2 -50 55.0 13.0|62 21 INV= v3 -90 56.0 12.0
4y S = *A 420 48.0 20.0|39 44 4v N-1  #A -50 55.0 13.0| 1 11 3a V= oT -140 41.0 27.0
4v S = &A 420 480 20.0(68 15 54 S-1 &K -50 55.0 13.0( 2 10 34 V= vT -140 41.0 27.0
4v S = *A 420 48.0 20.0|13 70 4v N-2 4A -100 36.0 32.0|17 66 24 V+1 T -140 41.0 27.0
4y N = *A 420 48.0 20.0|17 66 54D S-1 &2 -100 36.0 32.0|20 63 34 V= oT -140 41.0 27.0
4v S = &2 420 48.0 20.0(23 60 54DS-1 42 -100 36.0 32.0|27 56 14 V+2 T -140 41.0 27.0
4v S = *A 420 48.0 20.0|29 54 54D S-1 a2 -100 36.0 32.0 |41 42 34 V= vJ -140 41.0 27.0
4y S = *A 420 48.0 20.0 |34 49 54D S-1 a2 -100 36.0 32.0|45 38 34 V= oT -140 41.0 27.0
4v S = v9 420 48.0 20.0 (40 43 5¢vDS-1 #3 -100 36.0 32.0|48 35 34 V= *T -140 41.0 27.0
4v S = *A 420 48.0 20.0 |45 38 54D S-1 &3 -100 36.0 32.0|50 33 24 V+1 &T -140 41.0 27.0
4y N = *A 420 48.0 20.0|47 36 54DS-1 8 -100 36.0 32.0|53 30 34 V= *T -140 41.0 27.0
4v S = &A 420 48.0 20.0(53 30 54D S-1 43 -100 36.0 32.0|58 25 34 V= v] -140 41.0 27.0
3v S+1 a2 170 29.0 39.0|57 26 5vDN-1 ¢A -100 36.0 32.0|65 18 34 V= vJ -140 41.0 27.0
3v S+1  #A 170 29.0 39.0|58 25 54DS-1 &2 -100 36.0 32.0|67 16 34 V= v8 -140 41.0 27.0
3v S+1 #A 170 29.0 39.0|61 22 54DS-1 &7 -100 36.0 32.0|68 15 34 V= v] -140 41.0 27.0
3y S+1  #A 170 29.0 39.0|67 16 5vDN-1 +A -100 36.0 32.0| 5 7 34 V+1l vJ -170  17.0 51.0
3v S= *A 140 23.0 45.0|69 14 54DS-1 &2 -100 36.0 32.0({28 55 1la V+3 T -170  17.0 51.0
3v S= &A 140 23.0 45.0|71 12 5yDN-1 <A -100 36.0 32.0|32 51 24 V+2 ¢T -170 17.0 51.0
2v S= *A 110 19.0 49.0| 2 10 6y N-3 ¢K -150 20.0 48.0(34 49 1la V+3 T -170  17.0 51.0
2v S= a2 110 19.0 49.0|28 55 6vyDN-2 +A -300 14.0 54.0|39 44 34 V+1 vJ -170  17.0 51.0
4y S-1 T -50 10.0 58.0(32 51 64D S-2 &K -300 14.0 54.0(40 43 24 V+2 oT -170 17.0 51.0
4v S-1 v6 -50 10.0 58.0(52 31 6vDS-2 «3 -300 14.0 54.0|52 31 34 V+1 T -170  17.0 51.0
4v S-1 @A -50 10.0 58.0(59 24 3NS-6 &2 -300 14.0 54.0|59 24 24 V+2 oT -170  17.0 51.0
4v S-1  #A -50 10.0 58.0(62 21 6#DS-2 &2 -300 14.0 54.0(69 14 14 V+3 T -170 17.0 51.0
4v S-1  #A -50 100 58.0| 1 11 54 O= *A 450 4.0 64.0|71 12 34 V+1 T -170  17.0 51.0
4v S-1 @A -50 100 580 5 7 54 O= *A -450 4.0 64.0|19 64 4v S-2 4Q -200 5.0 63.0
4v S-1  #A -50 10.0 58.0 (27 56 54 O= &A -450 4.0 64.0|61 22 4v S-2 4K -200 5.0 63.0
4v S-2  #A -100 1.0 67.0|50 33 54 O= *A -450 4.0 64.0|23 60 44 V= vJ -420 2.0 66.0
44 N-2 23 -100 1.0 67.0|72 6 54 O= vA -450 4.0 64.0(13 70 34DV +1 T -630 0.0 68.0
33.1| - 46 33.1| - 46 33.1
aKn 20 « 10964 21 » EK976
v EK1076543 Vast v K8 Nord vKD732
¢ Kn4 Alla ¢ Kn52 NS +2
KD #K432 &E6
« 10765 « D98 # KKn5 «E82 «DKn42 4853
v- v DKn2 v3 v D976 vE10 v 8654
¢ ED10532 +9 ¢ KD97 + 8643 +83 ¢ KD75
«873 #EKn9542 #Kn10975 D6 #KKn852 #D9
« EK432 «D73 +10
v 98 v EKn10542 vKn9
+ K876 ¢+ E10 ¢ EKn10964
«106 #E8 #10743
Kontr ut Res Poéng Par  Kontr ut Res Poéng Par  Kontr Ut Res Poéng
4y N+1 ¢9 450 68.0 0.0]|49 36 INO-2 v4 200 68.0 0.0|42 43 4y N= *Q 620 67.0 1.0
4y N= *A 420 49.0 19.0(66 19 2v S+2 +K 170 66.0 2.0|66 19 4v N= *Q 620 67.0 1.0
4y N = *A 420 49.0 19.0| 3 11 3v S= v3 140 56.0 12.0| 1 13 3vy N+1 £Q 170 55.0 13.0
4y N = *A 420 49.0 19.0(33 52 2¢v S+1 &J 140 56.0 12.0| 2 12 3v N+1 #Q 170 55.0 13.0
4y N= *9 420 49.0 19.0|40 45 3v S= LN 140 56.0 12.0| 3 11 2¢v N+2 £Q 170 55.0 13.0
4y N = 9 420 49.0 19.0|41 44 3v S= ¢+ K 140 56.0 120| 6 8 3vy N+1 v4 170 55.0 13.0
4y N = vQ 420 49.0 19.0|42 43 2v S+1 %] 140 56.0 12.0|14 71 2v N+2 #Q 170 55.0 13.0
4y N= 8 420 49.0 19.0|46 39 3v S= LN 140 56.0 12.0|33 52 3v N+1 £Q 170 55.0 13.0
4y N = *A 420 49.0 19.0|53 32 3v S= ¢+ K 140 56.0 12.0|38 47 14 N+3 v8 170 55.0 13.0
4y N = +9 420 49.0 19.0(58 27 2v S+1 +K 140 56.0 12.0|58 27 3v N+1 #Q 170 55.0 13.0
4y N= *9 420 49.0 19.0|70 15 3v S= oK 140 56.0 12.0|63 22 3v N+1 £Q 170 55.0 13.0
4y N = 9 420 49.0 19.0|21 64 INS+1 #J 120 46.0 220|172 7 3v N+1 #Q 170 55.0 13.0
4y N = +9 420 49.0 19.0| 2 12 2v S= LN 110 38.0 300 5 9 3vN= *Q 140 39.0 29.0
4y N= *A 420 49.0 19.0|24 61 2v S= LN 110 38.0 30.0|21 64 3v N= *K 140 39.0 29.0
4y N = 9 420 49.0 19.0|29 56 2v S= ¢+ K 110 38.0 30.0|24 61 1a N+2 K 140 39.0 29.0
4y N = +9 420 49.0 19.0(30 55 2v S= LN 110 38.0 30.0|29 56 14 N+2 v5 140 39.0 29.0
4y N= *9 420 49.0 19.0|51 34 2v S= &5 110 38.0 30.0|35 50 3v N= *Q 140 39.0 29.0
4y N = 9 420 49.0 19.0|63 22 2v S= &T 110 38.0 30.0|46 39 3v N= &2 140 39.0 29.0
4y N = *A 420 49.0 19.0|68 17 2v S= +K 110 38.0 30.0|28 57 3&V-2 &A 100 32.0 36.0
3y N+1 9 170 29.0 39.0| 1 13 3NN-1 +9 -100 19.0 49.0|41 44 3v N-1 #Q -100 27.0 41.0
3y N+1 9 170 29.0 39.0| 4 10 3v S-1 T -100 19.0 49.0|59 26 4y N-1 +K -100 27.0 41.0
4y N-1  +9 -50 180 500 5 9 4v S-1 +K -100 19.0 49.0|62 23 4v N-1 +K -100 27.0 41.0
4v N-1 9 -50 18.0 500 6 8 3vS-1 &5 -100 19.0 49.0|69 16 4y N-1  +K -100 27.0 41.0
4vy N-1 9 -50 18.0 50.0(14 71 34 N-1 «Q -100 19.0 49.0| 4 10 3v N-2 #0Q -200 16.0 52.0
4y N-1  +9 -50 18.0 50.0(20 65 3v S-1 &J -100 19.0 49.0|{40 45 4v N-2 &5 -200 16.0 52.0
4v N-1 9 -50 18.0 50.0(38 47 4v S-1 &5 -100 19.0 49.0|51 34 6¥y N-2 ¢5 -200 16.0 52.0
4vy N-1 9 -50 18.0 50.0|{59 26 4v S-1 &J -100 19.0 49.0|53 32 4¢ S-2 &5 -200 16.0 52.0
4y N-1  +9 -50 18.0 50.0({60 25 3v S-1 +K -100 19.0 49.0|54 31 4v N-2 v6 -200 16.0 52.0
4v N-1 9 -50 18.0 50.0(62 23 3v S-1 +K -100 19.0 49.0|60 25 44 N-2 &3 -200 16.0 52.0
4y N-1 9 -50 18.0 50.0({69 16 3v S-1  ¢K -100 19.0 49.0|70 15 5v N-2 #Q -200 16.0 52.0
4vyDN-1 9 -100 5.0 63.0(72 7 3vS-1 K -100 19.0 49.0|20 65 3NS-3 #8 -300 5.0 63.0
5¢ N-2 +9 -100 5.0 63.0|35 50 2¢ O+1 46 -110 6.0 62.0|30 55 3NS-3 &2 -300 5.0 63.0
5v N-2 #A -100 5.0 63.0|18 67 3NN-2 ¢3 -200 2.0 66.0|49 36 44 N-3 20 -300 5.0 63.0
44 S-2 &3 -100 5.0 63.0|28 57 34 N-2 #Q -200 2.0 66.0|68 17 3NS-3 &2 -300 5.0 63.0
3NN-4  #A 200 0.0 68.0|54 31 24 N-2 #Q 200 2.0 66.0|18 67 3NS-4 &5 -400 0.0 68.0
34.7 48 - 34.7 48 - 34.7
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« D97 23 & E3 24 #1054
v KKn32 Syd vE1084 Vast v D4
+95 Alla ¢+ ED76 Ingen + ED64
D542 &Kn73 &ED92
«EKn8 #1052 410762 &KD94 «DKn92 &E73
vE vD107654 vKn32 976 vK3 v Kn987
¢ ED876 ¢ K4 ¢ Kn2 41093 49832 + KKn75
&#EKN97 #63 #EKD8 %962 &#K54 108
& K643 & Kn85 « K86
v98 v KD5 v E10652
+ Kn1032 ¢ K854 +10
#K108 #1054 #Kn763
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6NV -4 &4 400 68.0 0.0|42 45 3NN+1 &4 630 67.0 10|49 38 INDN= 43 180 68.0 0.0
3NV -2 +9 200 640 40|71 16 3NN+1 &K 630 67.0 10|55 32 2NN+1 ¥5 150 66.0 2.0
4y V -2 +9 200 640 40| 3 13 3NN= 43 600 59.0 9.0|31 56 2y N+1 &T 140 60.0 8.0
3NV -2 a7 200 64.0 40|43 44 3NN= 49 600 59.0 9.0|41 46 1vy N+2 &T 140 60.0 8.0
3NV-1 49 100 48.0 20.0(52 35 3NN= 49 600 59.0 9.0|54 33 2vy N+1 &T 140 60.0 8.0
4v O-1 «K 100 48.0 20.0 (59 28 3NN= &K 600 59.0 9.0|63 24 3v N= &T 140 60.0 8.0
4v O -1 ¢J 100 48.0 20.0(63 24 3NN= v9 600 59.0 9.0|67 20 2vy N+1 &T 140 60.0 8.0
4a V-1 +9 100 48.0 20.0(72 8 3NN= &K 600 59.0 9.0|30 57 3« N+1 &T 130 53.0 15.0
3NV-1 v2 100 48.0 20.0 (49 38 2¢DS+1 #A 380 52.0 16.0|61 26 3# N+1 &8 130 53.0 15.0
3NV-1 a7 100 48.0 200 2 14 24 O-2 vQ 200 50.0 180| 5 11 INN+1 ¥6 120 49.0 19.0
4v V-1 a7 100 48.0 20.0(39 48 2NN +2 &K 180 47.0 21.0(25 62 INN+1 5 120 49.0 19.0
3v0-1 v9 100 48.0 20.0(60 27 2NN+2 &K 180 47.0 21.0| 2 14 264 N+1 &T 110 38.0 30.0
3¢ V-1 +5 100 48.0 20.0( 4 12 2NN+1 &2 150 29.0 39.0| 3 13 34 S= «Q 110 38.0 30.0
4y V-1 &4 100 480 20.0( 5 11 2NN+1 +9 150 29.0 39.0|15 1 24 N+1 &8 110 38.0 30.0
3NV-1 v3 100 48.0 20.0| 7 9 INN+2 T 150 29.0 39.0|19 68 3 N= v9 110 38.0 30.0
3NV-1 a7 100 48.0 20.0(19 68 2NN+1 &4 150 29.0 39.0|22 65 2v N= 7 110 38.0 30.0
3NV-1 &2 100 48.0 20.0(21 66 2NN+1 T 150 29.0 39.0|29 58 2v S= «Q 110 38.0 30.0
3¢ V= &2 -110 34.0 34.0|22 65 INN+2 &K 150 29.0 39.0|39 48 2v S= 4 Q 110 38.0 30.0
3¢ O+1 &4 -130 32.0 36.0|25 62 2NN+1 44 150 29.0 39.0|42 45 34 S= «Q 110 38.0 30.0
29 O+2 43 -170 28.0 40.0|29 58 INN+2 &5 150 29.0 39.0|43 44 2v S= 49 110 38.0 30.0
29 O+2  #J -170 28.0 40.0|30 57 2NN+1 #2 150 29.0 39.0| 6 10 3¢DO-1 T 100 28.0 40.0
29 O+2 ¢3 -170 28.0 40.0|31 56 INN+2 T 150 29.0 39.0|64 23 INN= a3 20 25.0 43.0
3NV = &2 -600 21.0 47.0(34 53 INS+2 &K 150 29.0 39.0|72 8 24 S= 49 90 25.0 43.0
3NV = +9 -600 21.0 47.0|36 51 2NN+1 &9 150 29.0 39.0(47 40 24 V-1 v4 50 22.0 46.0
3NV = a7 -600 21.0 47.0|41 46 2NN+1 &4 150 29.0 39.0| 7 9 4v N-1 &T -50 16.0 52.0
3NV = &4 -600 21.0 47.0|54 33 INN+2 &4 150 29.0 39.0|36 51 INN-1 +5 -50 16.0 52.0
4y O = LY -620 10.0 58.0 (55 32 INS+2 &K 150 29.0 39.0|59 28 2NN-1 &6 -50 16.0 52.0
4v O = *2 -620 10.0 58.0|70 17 2NN+1 T 150 29.0 39.0|69 18 INN-1 +6 -50 16.0 52.0
4y O = *J -620 10.0 58.0|47 40 2NN= &K 120 11.0 57.0|71 16 INN-1 a3 -50 16.0 52.0
4v V = &4 -620 10.0 58.0|64 23 2NN= &K 120 11.0 57.0|52 35 3NN-2 43 -100 9.0 59.0
4y O = a3 -620 10.0 58.0|61 26 3¢ N= &K 110 6.0 62.0(60 27 3NN-2 a5 -100 9.0 59.0
4y V = +9 -620 10.0 58.0|67 20 3¢ S= &K 110 6.0 62.0|70 17 24 V= v4 -110 6.0 62.0
4y V = +9 -620 10.0 58.0|69 18 2¢ N+1 3 110 6.0 620 4 12 INN-3 43 -150 2.0 66.0
49 O+l 46 -650 20 66.0(15 1 24 V-1 vA 100 2.0 66.0(21 66 3NN-3 +3 -150 2.0 66.0
3¢DV= &2 -670 0.0 68.0( 6 10 3NN-1 «Q -100 0.0 68.0(34 53 3NS-3 «Q -150 2.0 66.0
36.2 50 - 36.2 50 - 36.2
« EK764 26 & K54 27 & EKn63
vK Ost v E943 Syd v732
+ K963 Alla ¢ 109763 Ingen + 864
&#KKn3 &8 #1075
48 & D1052 «ED & Kn9732 & K98 642
vKnl04 vD765 vKn852 v76 vEKKn5 D984
¢ ED104 ¢ 852 + Kn82 ¢ EK +D1093 ¢ KKn7
97642 D10 #Knl1054 #KD32 »K2 #9843
& Kn93 #1086 «D1075
v E9832 vKD10 v 106
¢ Kn7 ¢+ D54 ¢ E52
&E85 &E976 &EDKN6
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
44DN= 2 590 680 00| 6 12 INV-3 +3 300 67.0 10|31 58 24DN+1 &2 570 68.0 0.0
44 N+1 #Q 450 65.0 3.0(26 63 INV-3 *T 300 670 10(56 33 24DN= +8 470 66.0 2.0
44 N+1 6 450 650 30|16 2 INV-2 *2 200 61.0 7.0|53 36 24 0-3 *T 150 64.0 4.0
BNN+1 &2 430 60.0 8.0|42 47 INV-2 +3 200 61.0 7.0| 7 11 24 S+1 ¥vA 140 61.0 7.0
SBNN+1 ¢2 430 60.0 8.0(43 46 24 O-2 vK 200 61.0 7.0|64 25 24 N+1 42 140 61.0 7.0
3NN+ 46 430 60.0 8.0|60 29 24 O-2 vK 200 61.0 7.0(42 47 1INV -2 &5 100 56.0 12.0
44 N = v6 420 46.0 220 4 14 2¢ N+1 42 110 56.0 12.0|51 38 1INV-2 &T 100 56.0 12.0
44 N = v3 420 46.0 220| 1 17 24 O-1 vK 100 46.0 22.0(70 19 INV-2 &5 100 56.0 12.0
44 N = v6 420 46.0 22.0| 5 13 24 O-1 46 100 46.0 220| 3 15 INV-1 &7 50 48.0 20.0
44 N = v2 420 46.0 22.0(20 69 2 0O-1 vK 100 46.0 22.0(16 2 4vy O-1 &7 50 48.0 20.0
44 N = *2 420 46.0 22.0|23 66 3 O-1 vK 100 46.0 22.0(22 67 4v V-1 &T 50 48.0 20.0
44 N = v6 420 46.0 22.0(31 58 24 O-1 vK 100 46.0 22.0|26 63 4v O-1 v6 50 48.0 20.0
44 N = *2 420 46.0 22.0|35 54 INV-1 +3 100 46.0 22.0|35 54 4v O-1 vT 50 48.0 20.0
44 N = v5 420 46.0 22.0(40 49 INV-1 *2 100 46.0 22.0(55 34 INV= 46 -90 42.0 26.0
44 N = &Q 420 46.0 22.0(50 39 34 O-1 #A 100 46.0 22.0(65 24 INDS-1 vA -100 40.0 28.0
44 N = v6 420 46.0 22.0(62 27 24 O-1 vK 100 46.0 22.0| 1 17 INV+1 8 -120 27.0 41.0
44 N = v5 420 46.0 22.0| 3 15 14 O= vK -80 36.0 320 4 14 INV+1l &T -120 27.0 41.0
3NN= *2 400 33.0 350| 7 11 24 0= vK 90 29.0 39.0(30 59 INV+1l &5 -120 27.0 41.0
3NN = &Q 400 33.0 35.0(32 57 INV= +6 90 29.0 39.0(40 49 INV+1 w7 -120 27.0 41.0
24 N+2 v6 170 30.0 38.0(55 34 INV= *T 90 29.0 39.0(43 46 INV+1l 46 -120 27.0 41.0
44 N -1 &Q -50 18.0 50.0(65 24 24 O= vK 90 29.0 39.0(48 41 INV+1l 46 -120 27.0 41.0
44 N -1 &Q -50 18.0 50.0(68 21 INV= &8 90 29.0 39.0(50 39 INV+1 46 -120 27.0 41.0
3NS-1 &4 -50 18.0 50.0(72 9 INV= +3 90 29.0 39.0(60 29 2NV= LY -120 27.0 41.0
44 S-1 vJ -50 18.0 50.0(48 41 3¢ N-1 ¢A -100 20.0 48.0|62 27 INV+1 &3 -120 27.0 41.0
3NN-1 &Q -50 18.0 50.0(64 25 2v N-1 +K -100 20.0 48.0|68 21 INV+1 43 -120 27.0 41.0
44 N -1 v6 -50 18.0 50.0(71 18 2v N-1 A -100 20.0 48071 18 INV+1 #2 -120 27.0 41.0
54 N-1 +8 -50 18.0 50.0 (30 59 2« V= vK -110 140 540|72 9 2NV= 46 -120 27.0 41.0
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50 39 44 N-1 v6 -50 18.0 50.0 (51 38 3 O= vK -110 14.0 54.0| 5 13 3v V= v2 -140 10.0 58.0
53 36 44 N-1 &Q -50 18.0 50.0(70 19 24 O+1 ¢4 -110 14.0 54.0| 8 10 2v O+1 &7 -140 10.0 58.0
56 33 44 N-1 *2 -50 18.0 500 8 10 INO+1 ¢4 -120 9.0 59.0(32 57 1v O+2 &5 -140 10.0 58.0
70 19 54 N-1 v6 -50 18.0 50.0 (56 33 INO+1 T -120 9.0 59.0(44 45 2v O+1 &A -140 10.0 58.0
40 49 64 N-2 *2 -100 5.0 63.0(22 67 24 O+1 48 -140 5.0 63.0|61 28 3v V= a7 -140 10.0 58.0
44 45 44 N-2 v6 -100 5.0 63.0|61 28 24 O+1 ¢¥K -140 50 63.0| 6 12 INV+2 46 -150 4.0 64.0
4 14 44 N-3 v6 -150 1.0 67.0|44 45 INV+2 3 -150 20 66.0|23 66 3v V+1 &A -170 2.0 66.0
72 9 3NN-3 v6 -150 1.0 67.0|53 36 INV+3 3 -180 0.0 68.0(20 69 INDV +1 3 -280 0.0 68.0
- 52 30.8| - 52 30.8| - 52 30.8
28 & Kn973 29 «753 30 109763
Vast v 862 Nord v EK10863 Ost v EKKn
NS ¢ E95 Alla ¢ KKn Ingen +D9
&K72 &E7 S»E32
4 K5 4108642 & DKn82 4 E64 aDKn2 438
v7 v K1043 v D7 v 95 v1096 v¥853
¢ Knl0843 ¢ 72 ¢ ED10632 ¢94 ¢ 8762 ¢ EKKn1053
#ED1054 #96 &6 #Kn109542 #Kn54 #1076
«ED « K109 « EK54
v EDKn95 v Kn42 vD742
+ KD6 4875 *4
&#Kn83 &#KD83 &#KD98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
33 58 44DV -6 42 1400 68.0 00|63 28 54DO-6 ¢2 1700 68.0 0.0| 7 13 5¢DO-4 ¢2 800 67.0 1.0
38 53 3NS+2 &4 660 65.0 3.0|56 35 3NS+2 ¢2 660 65.0 3.0(32 59 5¢DO-4 &A 800 67.0 1.0
57 34 3NS+2 &4 660 65.0 3.0|57 34 3NN+2 &2 660 65.0 3.0|49 42 44 N+2 ¢A 480 64.0 4.0
515 3NS+1 &4 630 61.0 7.0| 4 16 4vy N+1 9 650 48.0 20.0| 8 12 3NN+2 ¢4 460 61.0 7.0
6 14 3NS+1 43 630 61.0 70| 7 13 4y N+1 &J 650 48.0 20.0 (57 34 3NN+2 3 460 61.0 7.0
119 4v S= +3 620 520 16.0|17 3 4y N+1 &J 650 48.0 20.0( 1 19 54 S= +6 450 31.0 37.0
4 16 4v S= &K 620 52.0 16.0|23 68 4y N+1 ¢9 650 48.0 20.0| 2 18 44 N+1 +A 450 31.0 37.0
17 3 4y S= *J 620 52.0 16.0|24 67 4y N+1 ¢9 650 48.0 20.0( 4 16 44 N+1 +A 450 31.0 37.0
21 70 4v S= &A 620 52.0 16.0|27 64 4y N+1 &J 650 48.0 20.0( 5 15 44 N+1 +A 450 31.0 37.0
56 35 4v N= *7 620 52.0 16.0|33 58 4y N+1 +v4 650 48.0 20.0| 9 11 44 N+1 +A 450 31.0 37.0
65 26 4y S= *J 620 52.0 16.0|38 53 4y N+1 ¢9 650 48.0 20.0(17 3 44 N+1 +A 450 31.0 37.0
71 20 4y S= &A 620 52.0 16.0|41 50 4y N+1 &J 650 48.0 20.0(21 70 44 N+1 +A 450 31.0 37.0
7 13 3NN= &9 600 42.0 26.0(45 46 4y N+1 ¢3 650 48.0 20.0|23 68 44 S+1 7 450 31.0 37.0
8 12 3NN= &7 600 42.0 26.0(51 40 4vy N+1 9 650 48.0 20.0 (24 67 54 N= +K 450 31.0 37.0
61 30 ANN= *7 600 42.0 26.0(65 26 4y N+1 ¢9 650 48.0 20.0 (27 64 44 N+1 +A 450 31.0 37.0
41 50 3y S+2 4K 200 37.0 31.0|66 25 4y N+1 ¢9 650 48.0 20.0|31 60 44 N+1 +A 450 31.0 37.0
63 28 2v S+3 &K 200 37.0 31.0|71 20 4v N+1 9 650 48.0 20.0 (33 58 54 N= A 450 31.0 37.0
69 22 3v S+1 ¢T 170 340 34072 10 4v N+1 9 650 48.0 20.0(36 55 54 N= A 450 31.0 37.0
24 67 3NO-3 vA 150 320 36.0| 6 14 3NN+1 9 630 29.0 39.0|41 50 44 S+1 +8 450 31.0 37.0
72 10 3v S= *T 140 30.0 38.0| 8 12 3NN+1 &J 630 29.0 39.0(43 48 44 N+1 ¢A 450 31.0 37.0
23 68 INS+1 &4 120 28.0 40.0|21 70 3NS+1 2 630 29.0 39.0|44 47 44 N+1 oA 450 31.0 37.0
9 11 3#0-2 vA 100 26.0 420|143 48 3NS+1 3 630 29.0 39.0|45 46 44 N+1 ¢A 450 31.0 37.0
2 18 4v S-1 *J -100 16.0 52.0| 1 19 2y N+3 &A 200 18.0 50.0|51 40 44 N+1 K 450 31.0 37.0
31 60 4v S-1 +6 -100 16.0 52.0( 2 18 3vy N+2 &J] 200 18.0 50.0|52 39 44 N+1 ¢A 450 31.0 37.0
36 55 3NN-1 &9 -100 16.0 52.0| 5 15 2¢¥y N+3 ¢9 200 18.0 50.0|56 35 44 N+1 2 450 31.0 37.0
43 48 3NN-1 *7 -100 16.0 52.0|31 60 3vy N+2 ¢9 200 18.0 50.0|61 30 44 N+1 +¢A 450 31.0 37.0
44 47 4v S-1 &A -100 16.0 52.0|44 47 3v N+2 ¢9 200 18.0 50.0|62 29 44 N+1 K 450 31.0 37.0
45 46 4v S-1 *J -100 16.0 52.0(49 42 3v N+2 &J] 200 18.0 50.0 (63 28 44 N+1 ¢A 450 31.0 37.0
49 42 3NN-1 *7 -100 16.0 52.0|61 30 2¢v N+3 ¢9 200 18.0 50.0|65 26 44 N+1 +A 450 31.0 37.0
51 40 3v S-1 +3 -100 16.0 52.0| 9 11 3v N+1 9 170 8.0 60.0|66 25 44 N+1 ¢A 450 31.0 37.0
66 25 4y N-1 *7 -100 16.0 52.0|36 55 3vy N+1 ¢9 170 8.0 60.0|69 22 44 N+1 ¢K 450 31.0 37.0
27 64 4v S-2 +3 -200 50 63.0|69 22 2y N+2 ¢9 170 8.0 60.0|71 20 44 N+1 ¢K 450 31.0 37.0
62 29 4v S-2 *T -200 50 63.0|52 39 2¢y N+1 &J 140 40 64.0(72 10 44 N+1 oK 450 31.0 37.0
32 59 3NS-3 *J -300 1.0 67.0|32 59 34 V-1 vA 100 20 66.0| 6 14 3NN+1 +8 430 2.0 66.0
52 39 3NS-3 *J -300 1.0 67.0|62 29 4v N-1 +9 -100 0.0 68.0(38 53 64 N-1 +K -50 0.0 68.0
54 - 28.9 54 - 28.9 54 - 28.9
31 & Kn986 32 & D9542 33 « KDKn63
Syd v- Vast v 863 Nord vD9
NS ¢+ E62 oV + 1095 Ingen + E1095
#KDKn974 #Kn3 64
4 K732 41054 sE & Kn108 4384 & E1097
vD9763 vKn85 vED10974 v KKn52 v 852 v 764
+ 874 + D1053 ¢+E4 + Kn82 + D82 +73
&6 &E53 &EK96 D105 &#EKKN98 #10752
«ED & K763 «52
v EK1042 v- v EKKn103
¢ KKn9 + KD763 ¢ KKn64
#1082 »8742 &D3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
39 54 6NS= a3 1440 680 00| 9 13 7v V-1 v3 100 670 10| 7 15 44 N+1 ¢2 450 68.0 0.0
25 68 3NS+3 42 690 640 40|55 38 7v V-1 v3 100 67.0 10|58 35 3NS+ SA 430 66.0 2.0
62 31 3NS+3 a2 690 64.0 40| 7 15 4v V+1 ¢ -650 63.0 50| 1 21 4v S= &A 420 52.0 16.0
66 27 3NS+3 42 690 640 40|24 69 5v V= &J -650 63.0 50| 2 20 5¢ N+1 #7 420 52.0 16.0
121 3NN+2 45 660 46.0 22.0( 3 19 4vy V+2 T -680 49.0 190| 6 16 4v S= SA 420 52.0 16.0
2 20 3BNN+2 8 660 46.0 22.0(10 12 4vy V+2 T -680 49.0 19.0| 8 14 44 N= *7 420 52.0 16.0
3 19 3NS+2 ¢4 660 46.0 22.0(28 65 4y V+2 T -680 49.0 19.0|28 65 4v S= &A 420 52.0 16.0
5 17 4NS+1 +¢2 660 46.0 22.0(42 51 4y V+2 T -680 49.0 19.0|33 60 4v S= &K 420 52.0 16.0
8 14 3NN+2 «4 660 46.0 22.0(44 49 4y V+2 &2 -680 49.0 19.0|39 54 4v S= &A 420 52.0 16.0
9 13 3NS+2 a2 660 46.0 22.0(45 48 4v V+2 5 -680 49.0 19.0|45 48 4v S= &A 420 52.0 16.0
18 4 3NS+2 +8 660 46.0 22.0(46 47 4y V+2 3 -680 49.0 19.0|46 47 4v S= SA 420 52.0 16.0
22 71 3NS+2 45 660 46.0 22.0|53 40 5v V+1 & -680 49.0 19.0|53 40 4v S= &A 420 52.0 16.0
24 69 3NS+2 43 660 46.0 22.0(64 29 4y V+2 T -680 49.0 19.0|64 29 5¢ N+1 3 420 52.0 16.0
28 65 3INS+2 42 660 46.0 22.0(66 27 4y V+2 5 -680 49.0 19.0|66 27 44 N= 7 420 52.0 16.0
33 60 3NS+2 +Q 660 46.0 22.0|70 23 4y V+2 & -680 49.0 19.0|67 26 4y N= &A 420 52.0 16.0
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45 48 3NS+2 ¢33 660 46.0 22.0|72 11 4y V+2 #J -680 49.0 19.0|50 43 3NS= &K 400 38.0 30.0
50 43 3NS+2 8 660 46.0 22.0|25 68 4y V+3 +v3 -710 36.0 32.0(32 61 4¢ N+3 3 190 36.0 32.0
55 38 3NS+2 +8 660 46.0 220| 6 16 64aDN-5 v5 -1100 34.0 34.0(24 69 4¢ N+2 o7 170 34.0 34.0
70 23 3NS+2 v3 660 46.0 220| 1 21 6v V= v2 -1430 16.0 52.0 (44 49 3¢ S= *A 110 32.0 36.0
44 49 3NS+1 ¢4 630 30.0 380 2 20 6y O= +Q -1430 16.0 52.0( 3 19 3NN-1 &5 -50 22.0 46.0
32 61 58 S= *6 600 25.0 43.0| 5 17 6y V= v3 -1430 16.0 520 5 17 44 N-1 &5 -50 22.0 46.0
52 41 5& N= +5 600 25.0 43.0( 8 14 6y V= v3 -1430 16.0 52.0( 9 13 44 N-1 &5 -50 22.0 46.0
64 29 5& N-= v8 600 25.0 43.0( 4 18 6y V= 45 -1430 16.0 52.0(10 12 3NN-1 &2 -50 22.0 46.0
72 11 5 N= +3 600 25.0 43.0|22 71 6y V= LN -1430 16.0 52.0(18 4 3NN-1 &2 -50 22.0 46.0
34 59 4& N= v5 130 20.0 48.0(32 61 6y O= 45 -1430 16.0 52.0(25 68 5¢ N-1 &T -50 22.0 46.0
6 16 64S-1 ¢4 -100 9.0 59.0|33 60 6v V= +5 -1430 16.0 52.0 (52 41 44 N-1 &5 -50 22.0 46.0
7 15 64 N-1 &7 -100 9.0 59.0|34 59 6v V= LN -1430 16.0 52.0(62 31 5¢ N-1 &7 -50 22.0 46.0
10 12 64 S-1 8 -100 9.0 59.0|39 54 6y O= + K -1430 16.0 52.0 (63 30 3NN-1 &5 -50 22.0 46.0
42 51 54 N-1 ¢4 -100 9.0 59.0|50 43 6v O= + K -1430 16.0 52.0(22 71 5¢ N-2 #A -100 7.0 61.0
46 47 64 S-1 ¢4 -100 9.0 59.0|52 41 6v V= v3 -1430 16.0 52.0(34 59 3NS-2 #A -100 7.0 61.0
53 40 64 S-1 %6 -100 9.0 59.0|57 36 6v V= v3 -1430 16.0 52.0 (55 38 44 N-2 ¢7 -100 7.0 61.0
57 36 64 S-1 &6 -100 9.0 59.0|58 35 6v V= a2 -1430 16.0 52.0 (57 36 3NN-2 &2 -100 7.0 61.0
58 35 64 N-1 ¢5 -100 9.0 59.0|62 31 6v V= ¢+5 -1430 16.0 52.0(70 23 3NS-2 #A -100 7.0 61.0
63 30 6#S-1 43 -100 9.0 59.0|63 30 6v V= &J -1430 16.0 52.0(72 11 3NN-2 &5 -100 7.0 61.0
67 26 6#S-1 ¢4 -100 9.0 59.0|67 26 6v V= +5 -1430 16.0 52.0(42 51 3NS-3 *K -150 0.0 68.0
- 56 326| - 56 326| - 56 32.6
34 410542 35 « D1093 36 4« Kn10653
Ost v 383 Syd v D10986 Vast vE8
NS ¢ Kn97 oV ¢ KDKn Alla ¢ EK7
K862 &D +«D9%4
4E983 4K6 2 KKn62 #E8 a4 4 KD98
vD10 v 97652 v75 v4 v K93 v DKn1072
¢ ED108 ¢ K642 ¢ E52 41098764 ¢ DKn1095 ¢ 86
&E73 #Knl0 #E1084 #KKn52 +K1063 *75
« DKn7 4754 «E72
v EKKn4 v EKKn32 v 654
+53 +3 4432
D954 #9763 #EKn82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 14 3NV -2 &2 100 67.0 1.0|25 70 4v S= 2 420 66.0 2.0(|47 48 4y O-2 &A 200 68.0 0.0
34 61 4¢ O-2 YA 100 67.0 1.0(47 48 4y N= &2 420 66.0 2.0(53 42 2vO-1 ¥5 100 640 4.0
64 31 1&S+1 4A 90 64.0 4.0(63 32 4y N= &2 420 66.0 2.0(68 27 3vy O-1 &A 100 64.0 4.0
4 20 2NV -1 &2 50 57.0 11.0|67 28 5¢DO-1 v¥K 200 620 6.0(71 24 3vy V-1 43 100 64.0 4.0
33 62 3vy V-1 43 50 57.0 11.0(54 41 3v S+1 +¢A 170 500 9.0(25 70 INS= +Q 90 60.0 8.0
43 52 2v V-1 44 50 57.0 11.0(71 24 3v N+1 T 170 590 9.0(19 5 2¢ V= aJ -90 58.0 10.0
45 50 2y V-1  #4 50 57.0 11.0| 9 15 3v S= *A 140 55.0 13.0| 2 22 24 N-1 45 -100 45.0 23.0
53 42 3NV-1 *7 50 57.0 11.0(26 69 3y S= s A 140 55.0 13.0( 4 20 24 N-1 ¢Q -100 45.0 23.0
67 28 3y O-1 ©vA 50 57.0 11.0 (43 52 2v N= 4 A 110 520 16.0( 8 16 2NN-1 ¢Q -100 45.0 23.0
6 18 INV= *6 90 46.0 220| 3 21 54V-1 ¥5 100 50.0 18.0| 9 15 24 N-1 vQ -100 45.0 23.0
8 16 INV= LY 90 46.0 220 7 17 3vy N-1 T -50 40.0 28.0(10 14 24 N-1  ¢Q -100 45.0 23.0
25 70 INV= &6 90 46.0 22.0(23 1 4y N-1 T -50 40.0 28.0(33 62 24 N-1  ¢2 -100 45.0 23.0
26 69 INO= vA -90 46.0 22.0(35 60 4vy N-1 v4 -50 400 28.0(34 61 24 N-1 vQ -100 45.0 23.0
71 24 24 O= vA -90 46.0 22.0(38 57 3¥y N-1 +6 -50 40.0 28.0 (43 52 24 N-1 ¢Q -100 45.0 23.0
72 12 2# N-1 &K -100 40.0 28.0|45 50 4y N-1 &A -50 40.0 28.0(59 36 24 N-1 vK -100 45.0 23.0
222 2¢ O+1 K -110 33.0 35.0|51 44 3v N-1 4A -50 400 28.0(63 32 34 N-1 vQ -100 45.0 23.0
11 13 2¢ O+1 ©vA -110 33.0 35.0(|56 39 3vy N-1 3 -50 40.0 28.0(65 30 24 N-1  vQ -100 45.0 23.0
38 57 2¢ O+1 ©vA -110 33.0 35.0(|59 36 4v S-1 v7 -50 40.0 28.0 (67 28 24 N-1 ¢Q -100 45.0 23.0
46 49 2¢ O+1 ©vA -110 33.0 35.0(72 12 3v N-1 4A -50 40.0 28.0(72 12 3v O= 4 A -140 32.0 36.0
51 44 2v O= +5 -110 33.0 35.0| 2 22 4v S-2 &2 -100 23.0 450| 3 21 34 N-2 5 -200 21.0 47.0
54 41 2v V= &6 -110 33.0 35.0| 4 20 4vy N-2 &A -100 23.0 450| 6 18 2NN-2 vQ -200 21.0 47.0
59 36 INV+1 4 -120 26.0 42.0| 6 18 4v S-2 46 -100 23.0 45.0| 7 17 2NN-2 vQ -200 21.0 47.0
7 17 2¢ O+2 K -130 22.0 46.0|10 14 4v S-2 46 -100 23.0 45.0|11 13 24D vQ -200 21.0 47.0
19 5 3¢ O+1 ©vA -130 22.0 46.0|11 13 4vy N-2 45 -100 23.0 45.0|26 69 3NN 2 v3 -200 21.0 47.0
56 39 2¢ O+2 ©vA -130 22.0 46.0|34 61 4v N-2 &K -100 23.0 45.0(29 66 34 N-2 ¢8 -200 21.0 47.0
321 2v0O+1 ¢5 -140 13.0 55.0|40 55 4v S-2 +A -100 23.0 45.0|38 57 34 N-2 8 -200 21.0 47.0
29 66 3y O= aJ -140 13.0 55.0|65 30 4v N-2 #K -100 23.0 45.0(45 50 34 N-2 vQ -200 21.0 47.0
35 60 2v V+1 v8 -140 13.0 55.0| 8 16 14 V+1 +¢K -110 13.0 55.0|54 41 34 N-2 ¢Q -200 21.0 47.0
40 55 3v O= +5 -140 13.0 55.0|64 31 3¢ O= vA -110 13.0 55.0|64 31 34 N-2 vQ -200 21.0 47.0
63 32 2vV+1 8 -140 13.0 55.0|19 5 4¢ O= vA -130 8.0 60.0{40 55 44 N-3 ¢Q -300 9.0 59.0
65 30 2v V+1 &2 -140 13.0 55.0(33 62 4¢ O= vA -130 8.0 60.0|51 44 44 N-3 &7 -300 9.0 59.0
23 1 INO+2 ©vA -150 5.0 63.0(46 49 4¢ O= vA -130 8.0 60.0{23 1 34DN-2 vQ -500 4.0 64.0
47 48 2N O +1 &4 -150 5.0 63.0|29 66 4vyDN-2 &A -300 3.0 65.0{35 60 3¢aDN-2 vQ -500 4.0 64.0
68 27 1vDS-1 vQ -200 2.0 66.0|53 42 4vDN-2 &A -300 3.0 65.0(56 39 34DN-2 ¢2 -500 4.0 64.0
9 15 2v S-3 +A -300 0.0 68.0|68 27 4¢DO= vA -710 0.0 68.0|46 49 44DN-3 vQ -800 0.0 68.0
58 - 34.1 58 - 34.1 58 - 34.1
33 62 Pen/Pen -6.8 -6.8
37 + EK8 38 « D74 39 « K874
Nord vE7632 Ost v ED82 Syd v DKn6
NS + K4 oV +D Alla 4 9852
K84 #KD1075 72
473 #1042 495 & E32 «D5 « E1096
vD109854 v KKn vK10975 vKn vK3 v E1087
+ Kn2 498753 ¢ Kn64 + E108752 ¢ EKDKNn4 ¢ 1063
&E97 #Kn63 #EKn4 #832 #EDG65 #Kn4
« DKNn965 4« KKn1086 « Kn32
v- v 643 v 9542
¢ ED106 + K93 *7
#D1052 £96 #K10983
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
30 67 64aDS= ¥2 1660 68.0 0.0(27 70 4¢DO-4 9 1100 670 10| 1 25 6¢ V-2 ¢2 200 66.0 2.0
57 40 64 S+1 ¢2 1460 66.0 2.0(59 38 24DO-4 ¢2 1100 67.0 1.0(41 56 6NV-2 *7 200 66.0 2.0
8 18 64 S= *A 1430 60.0 80| 521 34DS= ¢4 530 64.0 4.0]|59 38 6NV -2 &7 200 66.0 2.0
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48 49 64 S= a7 1430 60.0 8.0(11 15 44 S= *J 420 620 6.0 3 23 5¢ V-1 +9 100 59.0 9.0
52 45 64 S= vT 1430 60.0 80|72 13 3¢DO-1 &6 200 60.0 8.0|27 70 5¢ V-1 vQ 100 59.0 9.0
55 42 64 N= +9 1430 60.0 80| 3 23 24 S+2 ¢5 170 52.0 16.0|66 31 6NO-1 &9 100 59.0 9.0
59 38 64 S= v5 1430 60.0 80| 8 18 34 S+1 ¢4 170 520 16.0|72 13 6NV-1 &7 100 59.0 9.0
125 SNN+3 +9 690 52.0 16.0|10 16 34 S+1 ¢4 170 52.0 16.0|12 14 3v V+3 &7 -230 54.0 14.0
26 71 3NN+3 ¢9 690 52.0 16.0|35 62 24 S+2 49 170 520 16.0| 4 22 3NV+1 9 -630 49.0 19.0
36 61 3NN+3 ¢9 690 52.0 16.0|41 56 24 S+2 ¢4 170 520 16.0| 5 21 3NV+1l 9 -630 49.0 19.0
3 23 44 S+2 v8 680 33.0 35.0(48 49 34 S+1 ¢4 170 52.0 16.0|11 15 3NV +1l 5 -630 49.0 19.0
4 22 44 N+2 9K 680 33.0 350|65 32 24 S+2 v7 170 52.0 16.0|65 32 3NO+1 &9 -630 49.0 19.0
5 21 44 S+2 ¢2 680 33.0 35012 14 34 N= vJ 140 33.0 350 8 18 3NV+2 +¢9 -660 40.0 28.0
10 16 54 S+1 v9 680 33.0 35.0|26 71 34 S= +6 140 33.0 35.0| 9 17 BNO+2 #T -660 40.0 28.0
11 15 464 N+2 +9 680 33.0 35030 67 24 S+1 *T 140 33.0 35035 62 3NO+2 &9 -660 40.0 28.0
12 14 464 N+2 vK 680 33.0 35036 61 24 N+1 ¢J 140 33.0 350|136 61 3NV+2 &7 -660 40.0 28.0
20 6 44 N+2 vK 680 33.0 35.0|44 53 34 S= *J 140 33.0 35.0|46 51 3NV+2 ¢9 -660 40.0 28.0
24 2 44 N+2 ¢38 680 33.0 35046 51 34 S= *J 140 33.0 350| 7 19 3NV+3 ¢Q -690 25.0 43.0
35 62 44 S+2 a7 680 33.0 35.0|52 45 34 S= *4 140 33.0 35010 16 3NV +3 &7 -690 25.0 43.0
41 56 44 N+2 9K 680 33.0 35.0|54 43 24 N+1 vJ 140 33.0 35.0|39 58 4NV +2 ¢5 -690 25.0 43.0
44 53 44 S+2 &7 680 33.0 35.0|55 42 24 N+1 49 140 33.0 35.0(47 50 3NV +3 44 -690 25.0 43.0
46 51 44 S+2 ¢ 680 33.0 35.0|57 40 24 N+1 #J 140 33.0 35.0(48 49 3NO+3 &7 -690 25.0 43.0
64 33 464 S+2 v9 680 33.0 35.0|66 31 34 S= v5 140 33.0 35.0|54 43 4NO+2 &9 -690 25.0 43.0
65 32 44 S+2 ¢ 680 33.0 35.0|69 28 34 S= *J 140 33.0 35.0(55 42 3NV+3 +Q -690 25.0 43.0
66 31 44 S+2 v9 680 33.0 35.0(68 29 24 S= a5 110 20.0 48.0|57 40 3NO+3 &9 -690 25.0 43.0
69 28 44 N+2 9 680 33.0 3501 1 25 3¢ O-1 &9 100 18.0 50.0 |64 33 3NV +3 44 -690 25.0 43.0
27 70 3NS+2 ¢2 660 15.0 53.0| 7 19 44 S-1 +5 -50 11.0 57.0(69 28 3NO+3 %3 -690 25.0 43.0
39 58 3NN+2 ¢7 660 15.0 53.0| 9 17 34 S-1 *4 -50 11.0 57.0(20 6 4NV+3 vQ -720 12.0 56.0
47 50 44 N+1 9K 650 11.0 57.0|20 6 44 S-1 LY 50 11.0 57.0(24 2 3NV+4 &4 -720 12.0 56.0
72 13 44 N+1 vK 650 11.0 57.0|24 2 3« N-1 ¢A -50 11.0 57.0(30 67 3NV +4 &7 -720 12.0 56.0
9 17 3NN+1 9 630 5.0 63.0(39 58 44 S-1 +5 -50 11.0 57.0(26 71 6¢ O= 7 -1370 7.0 61.0
34 63 3NN+1 &2 630 5.0 63.0(47 50 34 S-1 *4 -50 11.0 57.0(34 63 6¢ V= &7 -1370 7.0 61.0
54 43 3NN+1 ¢9 630 50 63.0| 4 22 44 S-2 +3 -100 3.0 65.0|52 45 6¢ V+1 5 -1390 4.0 64.0
68 29 3INN+1 ¢¥K 630 5.0 63.0|34 63 3# N-2 vJ -100 3.0 65.0|44 53 6NO= &9 -1440 2.0 66.0
7 19 34 S+3 ¢4 230 0.0 68.0(64 33 3¢ O= 46 -110 0.0 68.0(68 29 6NV +1 &4 -1470 0.0 68.0
60 - 37.8 60 - 37.8 60 - 37.8
40 & EKn732 41 & Kn96 42 #1064
Vast vD9764 Nord v 873 Ost vE62
Ingen +5 (0)Y) + E96 Alla + ED92
92 &#KD86 »D86
4654 41098 4 K10853 #ED2 & EKKNn5 4 D932
v K2 v D9 v K102 vK9854 v DKn73
¢ EK94 41076 + K108 + DKn754 +73 +10
&#EK106 #DKn8743 #1093 &Kn4 &EKn K953
«KD a74 « 87
v Kn10853 v EKn654 v10
+ DKn832 +32 + KKn8654
&5 &E752 10742
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 15 4¢vDS= #A 590 66.0 20| 8 20 3v S= &K 140 68.0 00| 6 22 3NN-2 v3 -200 640 4.0
21 7 49vDS= ¢A 590 66.0 20|36 63 2v S= +8 110 640 40| 8 20 3vV+2 +A -200 640 4.0
66 33 4vyDS= +A 590 66.0 20|66 33 2v S= +8 110 640 40| 9 19 3vV+2 ¢A -200 64.0 4.0
9 19 4v S= *A 420 620 6.0|67 32 2v S= +8 110 640 40|36 63 4¢ S-2 a A -200 640 4.0
10 18 34 V-4 v4 200 60.0 80| 6 22 34 V-1 v3 100 55.0 13.0 (55 44 2vy V+3 v2 -200 640 4.0
12 16 3vy N= +6 140 55.0 13.0|21 7 44 O-1 &K 100 55.0 13.0|61 38 44 O= a2 -620 58.0 10.0
27 1 3v S= *A 140 55.0 13.0(25 3 34 V-1 v3 100 55.0 13.0| 2 26 4v V+1l ¢A -650 29.0 39.0
65 34 3v N= T 140 55.0 13.0|31 68 34 V-1 v8 100 55.0 13.0| 4 24 4v V+1 T -650 29.0 39.0
67 32 3y N= &Q 140 55.0 13.0(40 59 34 V-1 &3 100 55.0 13.0| 5 23 4v V+1l 46 -650 29.0 39.0
5 23 54D O-1 &K 100 50.0 18.0(48 51 34 V-1 v3 100 55.0 13.0|10 18 4v V+1 46 -650 29.0 39.0
4 24 54 V-1 +5 50 39.0 29.0(11 17 3v S-1 &T 50 46.0 22.0(11 17 4y V+1 &4 -650 29.0 39.0
6 22 5 V-1 v5 50 39.0 29.0(28 71 3v S-1 +3 50 46.0 22.0(12 16 4vy V+1 92 -650 29.0 39.0
11 17 3¢ V-1 &9 50 39.0 29.0(35 64 3v S-1 +8 -50 46.0 22.0(13 15 4y V+1 +A -650 29.0 39.0
28 71 54 V-1 &K 50 39.0 29.0|47 52 INO= v4 90 420 26.0(21 7 4v O+1 3 -650 29.0 39.0
42 57 5# V-1 +5 50 39.0 290 4 24 4v S- &K -100 40.0 28.0|25 3 4v V+1l &4 -650 29.0 39.0
45 54 5& V-1 +5 50 39.0 290 5 23 24 V= v3 -110 37.0 310|127 1 4vV+1l 2 -650 29.0 39.0
48 51 54 0-1 &K 50 39.0 29.0 (45 54 3¢ O= &3 -110 37.0 31.0(28 71 4v V+1l +A -650 29.0 39.0
49 50 3NV-1 a2 50 39.0 29.0(13 15 3¢ O+1 &7 -130 33.0 35.0|31 68 4v V+1 &6 -650 29.0 39.0
53 46 3NV-1 a2 50 39.0 29.0|61 38 3¢ O+1 ¢2 -130 33.0 35035 64 4vV+1l ¢3 -650 29.0 39.0
56 43 54 0-1 &K 50 39.0 29.0| 2 26 24 V+1 &Q -140 18.0 50.0(40 59 4v V+1 ¢2 -650 29.0 39.0
61 38 4v N-1 &Q -50 28.0 40.0( 9 19 24 V+1 3 -140 18.0 50.0|42 57 4v V+1 ¢2 -650 29.0 39.0
35 64 5vDS-1 +A -100 25.0 43.0|10 18 34 V= v3 -140 18.0 50.0 |45 54 4v V+1 &4 -650 29.0 39.0
58 41 4¢vDS-1 +A -100 25.0 43.0|12 16 24 V+1 +8 -140 18.0 50.0 (47 52 4y V+1 +A -650 29.0 39.0
2 26 440-= «Q -130 19.0 49.0|42 57 34 V= v3 -140 18.0 50.0|48 51 4v V+1 ¢2 -650 29.0 39.0
8 20 44 0= +5 -130 19.0 49.0|49 50 24 V+1 ¢3 -140 18.0 50.0 |49 50 4v V+1 &4 -650 29.0 39.0
40 59 44 0= &K -130 19.0 49.0|53 46 34 V= v5 -140 18.0 50.0 |53 46 4v V+1 v2 -650 29.0 39.0
60 39 44 O= &K -130 19.0 49.0|55 44 24 V+1 &K -140 18.0 50.0|56 43 4y O+1 ¢2 -650 29.0 39.0
47 52 3« V+2 +5 -150 12.0 56.0 |56 43 34 O= *2 -140 18.0 50.0|58 41 4v V+1 v2 -650 29.0 39.0
55 44 44 V+1 ¢5 -150 12.0 56.0|60 39 24 V+1 ¢8 -140 18.0 50.0|60 39 4v V+1 &6 -650 29.0 39.0
72 14 34V +2 45 -150 12.0 56.0 (65 34 24 V+1 &K -140 18.0 50.0|65 34 4v V+1 &6 -650 29.0 39.0
69 30 3« O+3 +¢Q -170 8.0 60.0|70 29 24 V+1 &8 -140 18.0 50.0(66 33 4v V+1l ¢Q -650 29.0 39.0
36 63 5% V= v7 -400 6.0 62072 14 34 V= &6 -140 18.0 50.0 |67 32 4v V+1 &4 -650 29.0 39.0
25 3 3NV+3 v4 -490 40 64.0(27 1 24 V+2 3 -170 3.0 65.0(69 30 4y V+1 w2 -650 29.0 39.0
31 68 54DO= &K -550 2.0 66.0|69 30 34 V+1 8 -170 3.0 65.0|70 29 4v V+1 ¢9 -650 29.0 39.0
70 29 3NDV+1 v4 -650 0.0 68.0(58 41 34 O+2 &4 -200 0.0 68.0(72 14 49y V+2 %6 -680 0.0 68.0
- 62 348| - 62 348| - 62 34.8
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